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During the experiment there were some mistakes in the data cause of human error. Scientists accidentally spilled the hydrated copper sulfate after the second measurement though It lost 0. 07 g when It was only supposed to As is explained in question two below, when not all of the water is driven off there is a lower value of n. This may explain why the n value solved for in this experiment was four when the actual n value is five. 
Each of the following errors affects the value of n. In each case, would the value of n increase or decrease? Explain. 2) Not all of the water is driven off. 
If not all the water was driven off then the mass of the dehydrated compound would be more and the mass of the water would be less. 
Thus after the conversions there would be more moles of the dehydrated compound and less moles of the water than if all of the water was driven off. Dividing a larger number of moles of the dehydrated compound from a smaller number of moles of the water would leave an expression with less water for every molecule of the compound, or a lower n value. 3) Upon heating, a crystal “ popped” and some of the compound is lost. If the crystal popped than the mass of the dehydrated compound would decrease. 
Therefore the mass of the water would increase. 
There would be more moles of water and less moles of the dehydrated compound than if the crystal hadn’t popped. A smaller number of moles of the dehydrated compound being divided from a larger number of moles of the water would leave more molecules of water per molecule of the dehydrated compound, or a larger n value. 4) The beaker was wet at the beginning of the experiment. If the beaker was wet at the beginning of the experiment, that means that extra water deed mass at start but evaporated quickly. 
This adds mass to the water and takes mass from the dehydrated compound. 
Thus there are more moles of the water and less of the dehydrated compound than if the beaker was dry. In the formula there will be more molecules of water per molecule of the dehydrated compound, or a larger n. 5) You cooled the beaker in the air instead of a desiccators. A desiccators in used, in most cases, to keep moisture-sensitive compounds dry or preserved. If the beaker was cooled in the air rather than a desiccators, then the compound would have been exposed to the outside environment. 
The compound would have become hydrated from the moisture in the atmosphere. Because the compound was hydrated by the air, then the mass of the dehydrated substance would be higher than if it were in the desiccators and the mass of the water would be lower. Thus there would be more moles of the dehydrated compound and less moles of the water. Dividing a larger number of moles of the dehydrated compound from a smaller number of moles of the water would leave an expression with less water for every molecule of the compound, or a lower n value. 
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